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Section - 1

English

Q. 01 to Q. 03 Instruction -

01.

02.

03.

Read the passage and answer the questions.

The word ‘astronaut’” means a person who travels in space. The
soviet astronaut Yuri Gagarin was the first person in the world to travel
into space, on 12 April 1961. The first Indian person to go into space
1s Rakesh Sharma. On 3 April 1984, Rakesh Sharma rocketed out into
space with two other Russian astronauts. Rakesh Sharma reported that
he could identify India easily from space. He could see the blue oceans,
green land and snow-capped dazzling Himalayas.

That is why when the Prime Minister Indira Gandhi asked him
how India appeared to him from space, he answered - “Sare Jahan se
Achchha”  the best in the world!

Choose the correct alternative.

Identify what Rakesh Sharma couldn't see from the space.

(1) green land (2) plains

(3) blue oceans (4) snow-capped Himalayas

Choose the correct statement for the following.

Rakesh Sharma was the first person in the world to travel in space.
(1) false (2) true

(3) not sure (4) none of these

Fill in the blank with correct word.

astronaut : space : : scuba-diver :

(1) above-water (2) sub-marine
(3) under-water (4) across-water

SPACE FOR ROUGH WORK
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Q. 04 and Q. 05 Instruction -

04.

0s.

06.

07.

08.

09.

Read the passage and answer the questions.

The elephant is the biggest of all animals on the land. But the biggest
of all animals lives in the sea. It can be as long as six elephants. It is the
blue whale. Though it lives in the sea, it is not a fish. It is a mammal.
The whale lives in water but it breathes air just like us. It has two blow-
holes on the top of its head. These blow-holes are like its nose. Whales
can not smell, they can not see too well. But they can hear sounds made
by other whales thousands of km. away.

Choose two correct alternatives which are true?

(1) The fins are like its nose.

(2) Whale is mammal.

(3) Whales can not hear sounds.

(4) They can hear sounds made by other whales thousands of km away.

Choose the correct option and fill in the blanks.

Whales can air, they can neither nor , but they can
(1) hear, breath, see, smell (2) smell, see, hear, breathe
(3) see, breathe, smell, hear (4) Dbreathe, smell, see, hear

Choose the correct alternative..
Surendra Chavan climbed up Mount Everest which rises 8848 meters high
above sea level. He got praises for his

(1) expedition (2) direction (3) tradition (4) citation
Choose the correct alternative.

Rita likes Pavbhaji, Wada-pav, cake, but her dish is Puri-bhaji.

(1) favourite (2) biggest (3) tasty (4) tiny
Choose the correct option which does not have prefix.

(1) disagree (2) distant (3) disappear (4) dishonest
Choose the correct phrase to make meaningful sentence.

The teacher said, “ the black board. Write down all the sentences.”
(1) look in (2) look into (3) look for (4) look at

SPACE FOR ROUGH WORK
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10.

11.

12.

13.

14.

15.

Choose two correct alternatives which is related with nature.

YK | L |M|[s|T
D E J O U R
B | T™~NA| 0| V]E
P Z A N w E
F L 0] W X A%
N JU[SJH|T]O
(1) MOON (2) STAR (3) TREE (4) BUD
Choose the correct alternative from the following to complete crossword puzzle.
F
L
| s|H|[?|W]|]E]|R|
\Y
| F | 2?2 | AR
R
(1) O, E 2 U A 3 LG (4) P, B

Choose correct alternative to make meaningful sentence.
a/wanted/royal/maharaja/to/appoint/physician.

(1) Royal physician wanted to appoint a Maharaja.

(2) Maharaja wanted to appoint a royal physician.

(3) Mabharaja appointed to want a royal physician.

(4) Royal Maharaja wanted to appoint a physician.

Complete the sentence using correct form of verb. Choose one correct option.
If you study hard, you pass.

(1) are (2) would (3) will (4) should
Choose one correct alternative.

You complete your studies then go outside to play.

(1) must (2) may (3) can (4) could

Read the sentence and recognize its type. Choose the correct alternative.
The doctor said, “Don't panic.”

(1) Assertive (2) Exclamatory

(3) Imperative (4) Interrogative

SPACE FOR ROUGH WORK
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16. Find out the number of pronouns in the following sentence.
We had a brain storming session. He spoke to us about it.
(1) 0 2) 3 3) 1 “4) 4

17.  Pick out the number of adjectives in the following sentence.
The king was angry but he tried to calm himself.
(1 2 2 3) 4 “4) 3

18.  Choose the correct alternative of passive voice.
The porter opened the door.
(1) The door opened the porter.
(2) The door is opened by the porter.
(3) The porter was opened the door.
(4) The door was opened by the porter.

19. Choose correct alternative.

The teacher said,
“Look at every
plant, every creeper

(1) The teacher told to look at every plant, every creeper.

(2) The teacher told that look at every plant, every creeper.
(3) The teacher told to looked at every plant, every creeper.
(4) The teacher asked if look at every plant, every creeper.

20. Choose one incorrect alternative from the given option.
(1) good - better - best (2) late - later - latest
(3) tall - more tall - most tall (4) thin - thinner - thinnest

21. Choose the correct alternative.
Nitu got first prize in competition.
Her mother said, “Gr8 work.”
(1) Great (2) Grit (3) Grate (4) Gret

SPACE FOR ROUGH WORK
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22. Read the mail and choose correct alternative.

The number ‘11° is related to

 AamML

¥ | AaPhainText | | o
+ < Format Painter @ B I Usex, x W-A- ‘

Clipboard | Format | Font =
N (1) date
j_ﬂ_; gjperera@hotmail.com .

f = Fre r"*—‘_ e (2) font size
| send | | St )
Lo J[Ce ] (3) number of mails
— . (4) time
i Welcome to myOffice2010.com!

Regards,

Gilberto J Perera, Microsoft MVP

| Editor, GilsMethod.com | Technology How-to Guides for the Rest of Us

giismethod corm
23. Read the web-site and choose correct alternative.

School Education and Sports Dep:
p Government of Maharashtra
Lh T Skl Bl B B

- Home vison Aboutus | . Helpdesk Detsils Search Sehool Dashboard Contact us Change Language To: Marathi

School, Swdent Teacher Database
by Hon'ble Minister

School Education and Sports Department
Y1 G oA 4 Thid any mere Thie you 2an gow A plant. The plant develops i owe  05-06-2015-World Environment Day
nature, The chid Butyou can help R o way. what
¥ou ca0 do s 1ot of & posiave ratire bt negabve, You Can Tate anay 1he obsdes and
Imowledge come1 30t of it own nsture. Lodsen the so% 2 i1z, 50 hat X may @M O 51.06.2015-International Yoga Day
emily. Put 2 hedge round F, see $at it is not kided by anythieg. You can supply the

rowing seed with the materiais for tre makiag ur of s body, brinieg I it the earth, the  26-06-2015-Social Justice Day
water, the e that ftwans. And there your work s1ps.

11-06-2015-Sane Guruji Smriti Din

- Swami Vivekanand

Which days are not mentioned in the web site? Choose two alternatives.
(1) Republic Day (2) Environment Day
(3) Independence Day (4) Social justice Day

SPACE FOR ROUGH WORK
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24.

25.

If the clock shows the time 10 past five. Which watch shows the right time?
Choose the correct alternative.

(1)

Read the following news and answer the questions by choosing the correct
option.

P. V. Sindhu, Sakshi Malik felicitated by Delhi Government. New Delhi -
Amidst an auditorium - full of star struck students, fellow atheletes, and family
members; silver medalist P. V. Sindhu and Sakshi Malik. They were feliciated
by Delhi Government. They awarded ¥ 2 crore to Sindhu and ¥ 1 crore to
Sakshi, ¥ 5 Lakh to each coaches Gopichand and Mandeep Singh. Both the
players were overwhelmed and thanked everyone for the guidance and support
they received.

Complete the sentence by choosing the correct word.

P. V. Sindhu, Sakshi Malik, Gopichand and Mandeep Singh was awarded by
(1) Mumbai government (2) Assam Government

(3) Karnataka Government (4) Delhi Government

SPACE FOR ROUGH WORK
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SECTION - II

INTELLIGENCE TEST

Q.26 to Q.30 Direction :
Find the odd term.

26. (1) Pumpkin (2) Tomato (3) Tulsi (4) Wheat
27.
% X 7 X
/) [\
\ \/
(1) 2) 3) 4)
28. (1) 505 (2) 336 (3) 209 4) 126
SNORE @ 3 ® b9 @ S
30. (1) JV (2) AU 3) RX 4) QW

Q.31 to Q.34 Direction :
In the following series determine the rule and find out the term in place of
question mark.

31. Question Figure:

%
S| 50 i 7
3 u
Answer Figures:
o o Q o
EAES A R YIR:

(1) (2) 3) (4)

SPACE FOR ROUGH WORK
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ABCDE FGHIJ KLMNO PQRST UVWXY
on - 11
MR ARt o
B3 §R?0T 26 00T 30 : |
moon 3eow wdas& moTOER0.
26, (1) ©¢3 2) w3 3) B0F (4) 1O
27.
% X TX
/M) (N
\W \/
(1) (2) 3) 4)
28. (1) 505 (2) 336 (3) 209 4) 126
P B ® % G o @ o
30. (1) IV (2) AU 3) RX 4) QW
I3 3=wos 31 0o 34

3N BRI, BIWHED AYTY, 2TOT TOIEF OB/, TOWEO.

R ®
3. Zogs

o 7

4
) 4
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32. 225 144 o, 324 81 9

729
(D 3t @ 2 3) 39 @ 5

33. 1000, 657, 441, 316, 2, 217, 216
(1) 300 2) 252 (3) 267 4) 341

* NADAr VDAV DI 2 2
vy vab v wd

35. The ratio of the ages of Swara and Meera 5 years before was 3 : 4. Five
years hence, the ratio of their ages will be 5 : 6. Find Swara’s present age.

(1) 15 years (2) 25 years (3) 10 years (4) 20 years

36. While conducting the group activities, the group leader used some letters for
specific instructions. For example - ‘L’ means ‘to read’, ‘M’ means ‘to write’,
‘V’ means ‘to meditate’. He instructed the students in the following manner.
How many times he instructed them to meditate?

LMVMLLMVVMLLMVVLML
(1) 6 2 5 ) 7 4) 8

37. Priya’s mother is Sagar’s mother’s sister-in-law. What is the relation of Priya’s
father to Sagar’s maternal aunty?

(1) Brother (2) Brother-in-law
(3) Husband (4) Can’t say

SPACE FOR ROUGH WORK
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ABCDE FGHIIJ KLMNO PQRST UVWXY

32.

33.

34.

35.

36.

37.

225 144 , 324 81 9

53 43> > 29> 19° 13
9 196 729 441

M 37 2) 57 3) 39 4 37

1000, 657, 441, 316, ? 217, 216

(1) 300 Q) 252 3) 267 @) 341

V(DU VDAV 222
yaw vib  wdb  vdb

A0 3B 0TS YRT VW FRFNG SRTOT [RONY MOFRRegs 3 @ 4 922,
2000 Bed 5 [RFNY JoIT @S0 [OPRT MOBREST 5 & 6 SMOETT ATV
Q00T WO, HR?

(1) 15 SR (2) 25 JIRF (3) 10 [IRF (4) 20 JIRF

2,00 BNFTY, [AFDONTRO IOy BRWSAYA WITNG VTIRER TRAETI. ‘@’
QOTT WIBT. ‘W’ 0BT WICINTI VY ‘W’ D0WT WOIZ INTBIRT.
83 De30INNTT I O[T TRET FL0TON 2T, IO RS FRBEINT?
DWW BV OOWBIDDWOOWWRDO WO

(1) 6 2) 5 (3) 7 4) 8

240030¢ B00 FONTT Fo0WOD IR YWY, TIWTT ,03RY 0303 TNTS
TR HRBNTE Fowor CIRFW?

(1) RAIReTT 2) PR

(3) now (4) W Tegwd WIBOY,
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38. In the word ‘CHANDRAYAAN’ which letters are to the right and left side of
the 3" last letter? (Find out two correct alternatives)

(1) H Q) Y
3) A 4) N

Q.39 and Q.40 Direction :

Find out the rule underlying the arrangement of numbers in the following
questions and choose the correct alternative that will replace the question mark.

39. 3 7 4 6
8 4 5 9

(1) 892 2) 576 (3) 823 4) 829

40. If5+3=72, 7-3=20, 4+3=56then 9+ 6 =72
(1) 15 (2) 225 (3) 240 4) 12

Q.41 and Q.42 Direction :

Identify the correct mirror image of the question figures from the alternatives
given.

41. Question Figure: Answer Figures:

(1 2 3) (4)

SPACE FOR ROUGH WORK
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38.

o™, R, D, N S8 @@dﬁ@od 303RTINOR DO, @gpmf BUE BRTO TR
WIONY ARRTFFE 5%7{@5% TOIRFODROT TOBFO  (O3RETLDTIT  DTBI
dojfarodan’%fdi ol m@a)

(1) Qe (2) Bwd

(3) ©Tey 4) %o

B3 590F 39 00w 40

40.

gjeksplowielatsclovy mgwmq MOTO8R gs‘;&% Jere AT 2TOTW TOIRFOD  FOWD
& G3CA0.

3 7 4 6
9‘5 2‘6 3‘1 7@2
8 4 5 9

(1) 892 (2) 576 (3) 823 (4) 829

S +3=72,7-3=20,4+3=56 2G5 9 +6=2
(1) 15 (2) 225 (3) 240 4 12

B3 g=m0% 41 00z 42

41.

$9N3 TTFRD BIBODAND BBWowTR) Fom> LROWD.

QBT SFINO

(1) (2) 3)
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42.  Question Figure: Answer Figures:

(1 2 3) 4)

43. In a hall, the chairs are arranged in a square formation. A girl is sitting at
the centre place of the square. Three students are sitting to the right and left
side of the girl in the same row. If all the chairs occupied by the students,
find the total number of students sitting on the chair.

(1) 36 (2) 49 3) 13 4) 42

44. ‘He made efforts to keep abreast but it was no use.” Which of the following
alternatives has the similar meaning to the words in the given sentence.
(Select two correct alternatives)

(1) rubbish (2) affects

(3) in vain (4) to try hard

45. In the adjacent figure Akshay is standing at ‘A’ facing sun-set. By the time
he reached the place ‘B’. How many times his back faced south?

(1) 3
A L (2) 4

(3) 6
B (4) 5

46. Choose the author of the book ‘King Lear’ from the given alternatives.
(1) Rudyard Kipling (2) Wordsworth
(3) R. S. Stevenson (4) Shakespeare

SPACE FOR ROUGH WORK
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42.

43.

44.

45.

46.

CSENE IS FIned

() (2) 3) 4)
2,000 RPRREY, WPTAFTTRY, DWFNYI) ToTLRNT. WO, 2,030 TN
OFLPNCYTR 0edr o F0ed BVEY. €T WO, ¢ TR R
LOWOR BRDD DWRFN BVET) & T FPOFINTT  APNBEATOS
2830, 00EFNY Fosd, R?

(1) 36 (2) 49 3) 13 4) 42
FOTOTHRTL BR) BOTISCD BODATE, FTECIRTIBLOT v (O3pert TR
QT wodyarojamfag ol dsa@@)

(1) sy, ITTH 2) =R o, TEPTITO

(3) 3B aboz;dddo (4) BRICH AT AFTD

3INT &7 800Y, ‘A APTY, Q08TOT wTORIN BT BWa00T AR CINFFTINODE
P83, TRTS B’ 3¢ S0tmuon o, 30 ens o) 3t 08 98?

(1 3
A (2) 4

3) 6
] “4) s

TR0 FBI FOTOTRI) WBTBR3> ABRTO?

(1) BOFHoR) (2) B[y H[ozwded wadyomed
(3) N0 TBFRE (4) ©.oo. 2¥eod,
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47.

Rajanikant was born on Tuesday, 29t February 2000. On which day will he
celebrate his second birthday?

(1) Wednesday (2) Thursday (3) Friday (4) Tuesday

Q.48 to Q.52 Direction :

48.

49.

50.

S1.

52.

In each of the following questions relation between 3™ and 4 term is the
same as that between the first and the second term. Find the term to replace
the question mark.

Primary occupation : Cattle rearing : : Secondary occupation : ?
(Select two correct alternatives)
(1) Tourism (2) Cotton textile industry
(3) Credit-Co-Op-Societies (4) Tron and steel industry
Cricket : Pitch : : Wrestling : ?
(1) Rink (2) Wrestler (3) None of these (4) Arena
34 : 91 :: 27 : 7 . (Select two correct alternatives)
(1) 351 (2) 315 (3) 347 4) 117
WVU : N :: TSR :?
(1) F (2) H 3) C (4) E
Question Figure:

O O

° . ) ° f?
O O a -

Answer Figures:

O

)lJ D
O O

(1) (2) ) (4)
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ois
DO

47.  OwToET wF 29 FOWO 2000 ToTDO BOONTIIT BOWBY TRET @RI

IO

ATRF0D e, By, CIRT T WABE?
(1) wo@Em3 2) rodmes (3) BoBad 4) Roongmed
B3 308 48 003 52 :
BRTOT ATBE TBNY IBIOWOPHIIY, VPR TJIWTOD IFTY, WO :[
TBOIRF ONTT), 0T SROWD.
48.  HFT JTWOH : TS : QEo3T FW|HOD & 7 fi
(o:'iraeﬁ 2R 20> TOITRE OPNRTTY eﬁojo M@a) o
(1) BoDress Q) =p03 WEICH euEsRen
(3) T FPFROZ (4) @33 AWFY
V. EEBO : @M ;0TS ¢ 9
(1) 9, (2) 0000w
(3) “BIOTINS 4) Fwed
50. 34 : 91 ::27 @ ? (C3REMTIH DTBO TOIRFORNTR) 03, BWRAO)
(1) 351 ) 315 3) 347 4 117
SI.  WVU : N :: TSR :?
(1) F 2) H 3) C 4) E

52. yj% @%g

%«:%::*ﬁ%:?
1) =) R B

(1) (2) (3) 4)
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Q.53 and Q.54 Direction :

In the adjacent figure, the number of boys who are the fans of different teams
is shown. Observe the venn diagram and answer the questions that follow:

7 <«— Dabang Delhi

4 Puneri Paltan

53. How many boys are the fans of only two teams?
(1) 26 2) 5 3) 15 4) 21

54. How many boys are the fans of only one team?
(1) 38 (2) 36 (3) 94 4) 59

55. Observe the numbers given in the following square and choose the correct
alternative to replace the questions mark.

7 1 8 | 13 8 3
4 |5 | 9 5 7
9 12 | 15 4) 6

56. In the following number series find the odd term.
6, 3, 32, 59, 130, 211, 342.
(1) 6 (2) 342 (3) 32 4) 130

SPACE FOR ROUGH WORK

0822-Kannada Set-A 18 of 32 Contd...



ABCDE FGHIIJ KLMNO PQRST UVWXY

B3 5908 53 00w 54
IINT B $3800Y, BT MOOT) AeHIRNID DTHFNY :’)o@ﬁgojasaq BRBOONT.

WTT J0E [R® BING QUZT TBEO.

7 «— O Twon

4 QT DO

33.  Femo 0D rOOPNIR, ARFER DTPFNY Foad, SR, ?
(1) 26 2) 5 3) 15 @) 21

54. 3emo wotde o) VEIBRB AWBFNS Fosd, ), ?
(1) 38 Q) 36 3) 94 4) 59

S5. A3 WPTITY, BIWHOD AYTY, TOT TOIF OB/, 030, TRRO.

% @

718 |13 E;; 2
-4 5 ? 3) 7
9 12 | 15 “4) 6

56. 3903 BROFONYOD B, dcﬁda’% nOTI8R0.
6, 3, 32, 59, 130, 211, 342
(1) 6 2) 342 3) 32 4) 130

SPACE FOR ROUGH WORK
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57. In the following table symbols are used for numbers. (Select two correct
alternatives)

Numbers 2 3 4 5 10 11 | 12
Symbols O|lA | % | *x |0 |D0|V H|®|lALA|D

[®)
-
o]
O

then
()= (R)+(B)++=2
(1) AxO (2) *+A (3) V=0 (4) &=

Q.58 and Q.59 Direction :

58. In a certain code language SUN is replaced by VXQ, TON is replaced by
WRQ, then VEX will replace which word?

(1) SBU (2) WDA (3) LGB (4) PKF

59.  Which of the following alternative gives the word which is opposite of ‘“YES’?
(1) VvVQ (2) QR (3) WR 4 WQ

60. Identify the water reflection of the question figure from the given alternatives.
Question Figure: Answer Figures:

(1) (2) (3) 4)

SPACE FOR ROUGH WORK
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STe 39nS i PBFY ©@0sns wIOR @38 LVRCIRNTTRNT.

308D 2 3 4 5 6 7 8 9 [10 | 11| 12
SERINS O|A| ) | *x |0 | D |V H|P|A|D
QB3 BeDon
AW H =2
()R (E) = o2
(1)  AxO 2) *x+A 3) Vv-=O 4) A-A

B3 3=m0% 58 003 59 :
20T ToFEIT DTN, ‘TR’ Bt BuRF), NML' o, ‘TP’ B II
PON’ som> o) ‘G’ B TR ‘QPM’ 208> BT, BPNYE, 3T
3SR 3 QoNLR WITRY HTI AT P0m> VeSO, Bt TPt Do
$9NS FIRYR WRRO.

58. 33 7ol RPN ‘FWT’ TR Bert w0302 ?
(1) OMN 2) QMN (3) MPQ (4) MPN

59, B33 ol RRD ‘TI’ B Ty Bert L3I0z ?
(1) MP (2) NP (3) MN (4) NQ

60. 3 wgRodh wo BeWowswy VoINPT ol BRRD.
33 33 030 wyanes

%

(D 2) 3) 4

SPACE FOR ROUGH WORK
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Q.61 and Q.62 Direction :
Observe the following figure.

61. All the outer surfaces of the given figure are painted with the same colour.
How many cubes will have three faces painted?

(1) 16 2) 14 (3) 20 4 12

62. In the given figure find the maximum number of cubes that are arranged one
above the other?

(1) 216 (2) 208 (3) 200 4) 192
Q.63 to Q.65 Direction :
Identify the rhythmic arrangement of terms given below and find the correct
term in place of the question mark.
63. UW?MVUVM?NUNW??2UMVNW
(1) NUMYV 2) NVwWM
3 NwWVM 4 WMVM

SPACE FOR ROUGH WORK
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B3 539908 61 00T 62
STEO JOTR [RE YV TOIRFOD TIBOFO.

61.  0eIT SFIOL 2, WPH[LWNNGT 20T3e WEPDI) SERATHN T, PIFENY

SR> FRG 6y, BUWEOTMORT 2
<] ) 23

(1) 16 (2) 14 3) 20 (4)

62.  F0edT BTBONY, TRNT HTTE BT IR, PIFINW 0T3S 2,080
WoRZ?
(1) 216 (2) 208 (3) 200 (4)

B3 FFI0T 63 00T 65

TRY, TWNMY ©obWE, SoRBONT), 0y BIWTOD YT, wBdT  odner;

)

DOTRECD BB,

3. UWI?MVUVM?NUNW?22UMVNW
(1) NUMV 2) NVWM
3) NWVM 4 WMVM

12

192

SPACE FOR ROUGH WORK
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" O 0O T2 2922 02 ()
m VLA o D L;

CIEN)I @ Dy

65. 36971223169772936117?27?9
(1) 326 2) 623 3 673 4 362

66. A square sheet of paper folded and cut as shown in the question figure. How
will the figure look like when the paper is unfolded. Choose the correct option.

Question Figure: Answer Figures:
i | | |
R /
S o
Bg ’
(1) 2) 3) 4)
67. Find the hidden part of the question figure from the alternatives given.
Question Figure: Answer Figures:
(1) 2) 3) 4)

SPACE FOR ROUGH WORK
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o RO 00T DRM A0 292520
OED)PNSs @ D HLA
@ LA @ D)

65. 3697122316977293611799799
(1) 326 2 623 (3) 673 4 362

66. ©I TBNYeL TNRWE BORE Tos IR0 IYTY, TZor WM WTT
S$T0 TEN FOEIROIT 2
33 @z QOIT SFIND

3) 4

(1) 2)

67. 3nw BF $TSODY, wBTNTOR PR WZT SFENVOT 3ReQAD
33 @z OIT TSN

By

(1) 2 3) (4)

SPACE FOR ROUGH WORK
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Q.68 to Q.70 Direction :

Observe the following pyramid and the sequence of the terms given in the
questions that follow. Choose the correct term from the alternatives given that
will replace the question mark. (Select two correct alternatives.)

68. w HSO: ¥ WRI2::A|]T7TA:?
(1) 1C O 2 2 16106
B3 21 @7 @4 A | FC

9. A34G6C:OCEF |[3A::D4GHY =*:?
(1) 5FE9 x4 2) SEF 911 *
(3) 5FE9 L% 4 SEIWHS8 | %

7. AGBOS8:OH3A::2:29CO0O
(1) 19B21 2) 1TFCOI
3 1FB2I 4 1EB2I

SPACE FOR ROUGH WORK
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@%gmoﬁ 68 domw 70 :
FPNI m?xaedﬁaodaag QOCTT TR @gowqms 203, @gd a%&;%ﬁ%f gmw:%
NSO gzg z%éqodo #@@d@m WS YVITT ﬁoﬁnroﬁodﬁg{ oW &ROD.
(oiraerjsébdm QT aom;om@@ efoj% m@a.)

68. w RS O: %#KI2::Al7A: 7

1) 1C0O2 2 16706
3 211 4 AlFC

9. A 34G6C: ®@CEFYI3 A ::D4GHWE* : ?
(1) 5FEO9LWfx*4 (2) 5EF 91K *
(3) SFE 9% 4 SEIWRS8 L %

7. AGBOS8:O0H3A::2:29C0
(1) 19B21 2 1FCOI
3) 1FB21 4 1EB2I

SPACE FOR ROUGH WORK
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73.

71.

72.

One is added to the position of serial number of each letter in the alphabet
series. Find the sum of the serial numbers of the word which is opposite to
the word ‘EAST’? choose the correct option.

(1 71 2) 63 (3) 66 4) 73

In the following series determine the rule underlying the series and find out
the term in place of the question mark.

Y,A V,D, 2, LI, P, A Y
() 1 (2) D 3) Q

Choose the correct alternative to complete the question figure.

4) P

Question Figure: Answer Figures:

2

3)

(1) 2) 4

Q.74 and Q.75 Direction :

74.

Choose the correct figure from the alternatives given that exactly matches with
the question figure.

Question Figure: Answer Figures:

O O O O O
i = [T = =
(1) (2) 3) 4
SPACE FOR ROUGH WORK
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71.

72.

73.

QONER @@Addmdoda@ﬁojo 2,803R0T0 @ﬁ\d%é 930 @mgmatos 2,0030080 é?,abw

¥¢ rchdromen EAST 8 3u3 Q303 3usdod ¢one wens tSedewd

@w—awmdda?

(1 71 2) 63 (3) 66 4 73
$9NT BnOBCHY, BY wFD IR, WHT ©IF IRH 9

Y, A, V,D ?. 1L J, P A Y

(1) I 2) D 3) Q 4) P

3083, 533 TPEOF BRBO 03RER, TOIIRFOD @Oﬁ% RBPBO
33 TS QT SFIND

o8 | 2

(1) (2) (3) (4)

B3 50T 74 00w 75

74.

B TSR TREIFN BRCLIT BTBODDY, TOIRFONPOT FOWD SROWO.

(1 ) €) (4)

SPACE FOR ROUGH WORK
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75. Question Figure: Answer Figures:
N SN N N (]
ol e Sod o

() (OO [ (&

(1) ) 3) 4

SPACE FOR ROUGH WORK
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75 B3 el

QUZT SFENO

\JJ@Q
(>

MJ@Q
(>

(1)

2

SPACE FOR ROUGH WORK
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